Velika logicna posSast

Enacba |ax+b|=c

Resi enacbo oblike
|ax+b|=c.
Resitvi prikazi na Stevilski premici.
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1.
[2x+1} =1

2.
[3-4x}=09

3.
|12-5x}| =3

4.
f9-3x| =0

5.
|-x -4} =10

6.
|-3x-9}1 =0
7.
[2x+4} =0

8.
[-4x -1} =2

9.
|-3x-8| =5

10.
|-4x -5} =2

11.
[2x-5| =9

12.
[5x+1| =7

13.
{10 - 3 x| = 3

14.
|-3x-2}=7

15.
IXx+9] =6

16.
[5-5x| =8

17.
[3x-4} =2

18.
[5-x} =9



19.
{10 -4 x| =1

20.
[2x-1} =4

21.
[-3x-10| =9

22.
IX+4} =7

23.
|-x-8}| =4

24.
[-3x-3| =10

25.
Ix-10} =9

26.
|6 -5x| =8

27.
[-5x-3| =1

28.
18 -4x| =8

29.
{4-2x} =5

30.
[2x-5| =7

31.
[2x+6] =2

32.
|7 -3x| =4

33.
[-4x-7} =4

34.
[2x+5| =3

35.
16 -2x| =10

36.
Ix+10| =4
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37.
[3x-8] =9

38.
|14 -x} =5

39.
|-5x-7} =8

40.
|x-10} =9

41.
{4x-10| =5

42.
[-2x-7} =4

43.
{3x-6} =4

44.
|-x-51 =0

45.
[5x+7| =7

46.
[5-5x| =8

47.
[x -4} =4

48.
[3x-9| =2

49.
f-x-8} =1

50.
Ix-10} =3

Resitve:
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1.
[2x+1] =1
2x+120] 2x+1<0
1 1
XZ—E X<_E
2x+1=1]-2x-1=1 -1 0
x=0 x=-1 ‘ ° ® L ‘
2 -1 0 1 2
2.
[3-4x| =9
3-4x20([3-4x<0
3 3
XS4— X>4— 3
3-4x=9|4x-3=9| . 2 _ ‘ ‘ ‘ 3 ‘
x=_2 x=3 2 0 1 2 3 4
2
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|-x-4] =10
-x-420 |-x-4<0
X< -4 x>-4 |14
-x-4=10|x+4=10
x=-14 X=6

6
-10-9-8-7-6-5-4-3-2-10 12 3 4 5 6




6.
[-3x-9| =0
-3x-9201]-3x-9<0
X< -3 x>-3
-3x-9=0[3x+9=0 ‘ —‘3 ‘ ‘
=_3 =-3 |4 -3 -2 -1
7.
[2x+4| =0
2x+420] 2x+4<0
X2-2 xX<-2
2x+4=0]|-2x-4=0 -2
xX=-2 x=-2 |3 h) >
8.
|-4x-1| =2
-4x-120]-4x-1<0
T 1
X<—4— X>—Z
-4x-1= dx+1= 3 1
=_3 =1 4 4
Y X=7z L. °
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9.
|-3x-8| =
-3x-820]-3x-8<0
3 3
XS_E X>—§ _ﬁ
3x-8=5[3x+8=5]. 2, | o ‘
—3 — -5 -4 -3 -2 -1 1
X=-= X=-
3
10.
|-4x-5| =
-4x-520[-4x-5<0
5 5
XS—Z X>—Z
Ax-5=2|4x+5=2 -L "
7 | @ Py I
=-7 X=-7 2 v 0
11.
[2x-5| =
2x-520[2x-5<0
5 5
XZE X<E -2 7
2x-5=9[5-2x=9}3 -2 -1 o 1 4 7
xX=7 X=-
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12.
[5x+1| =7
5x+120 | 5x+1<0
xz—% x<—1§ . .
5x+1:7 —5x—1: | 5 | | ‘E
5 =3 2 -1 0 1
13.
[10-3x] =3
10-3x20[10-3x<0
10 10
XS? X>? 7 13
T0-3x=3|3x-10=3], ‘ ‘ S .3
_ 7 — 13 1 0 1 2 3 4
X_E X—?
14.
|-3x-2| =
-3x-220]-3x-2<0
2 2
xs-2 x>- 5
-3x-2=7(3x+2=7 |, __3 ‘ ‘ \ \ 3
— — 5 |4 3 -2 -1 0 T
X=- X—E
15.
|Xx+9| =6
x+920[ x+9<0
X= -9 x<-9 |-15 -
X+9=6|-x-9=6]| 10-9 -8 -7 6 -5 -4 -3 2 -1 0 1

X=- x=-15
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16.
|5-5x] =8
5-5x20[5-5x<0
x<1 x>1
5-5x=8|5x-5=8 -3 B
— 3 — 13 Lo ‘ ‘ ‘ >
=5 X=5 I 0 1 2 3
17.
[3x-4]=2
3x-420[3x-4<0
7 7
XZE X<§
3x-4=2|4-3x=2 2
2 3 2
x=2 X=z w 1 P .
3 | 0 1 2
18.
[5-x] =9
5-x20]5-x<0
X<5 Xx>5 -4 14

5-x=9|x-5=9
X=- x=14

-5 -4-3-2-10 1 2 3 456 7 8 910
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19.
[10-4x]| =1
10-4x20]10-4x<0
5 5
X< = X> =
2_ 2_ o 1
10-4x=1[4x-10=1 . .
X=% X=%‘ 1 0 2 ® 3
20.
[2x-1]| =4
2x-120[2x-1<0
1 1
XZE X<5 3 5
2x-1=411-2x=4 2 2
=§ = e—-— -2 - -1 0 2 -
X=z X
21.
[-3x-10] =9
-3x-1020[-3x-10<0
70 0
XS_? X>—? _? _']g
—3X—1(:9=9 3X+1O1=9 e = ” - = e
X——? X——g
22.
| x+4]| =7
x+420| x+4<0
X2 -4 X< -4 -11 3
X+4=7|-Xx-4=7| © -10-9 8 <7 6 5 4 3 2 10 1 2 3
x=3 =-1
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23.
|-x-8] =4
-x-820]-x-8<0
X< -8 X>-8 -12 -4
x-8=4|x+8=4] * 10 9 8 -7 6 5 % 3 2 1 0 1 2
x=-12 X=-
24.
[-3x-3| =10
-3x-320 |[-3x-3<0
x < -1 x> -1 _13 z
3x-3=10|3x+3=10| ., 3. ‘ ‘ ‘ ‘ ‘ L3
— 13 _7 -5 -4 -3 -2 -1 0 1 2
3 3
25.
[x-10] =9
x-1020 [ x-10<0
x=10 | x<10 | ' 19
X-10=90[10-x=9O}10 1 2 3 4 5 6 7 8 9 10 hd
x=19 X=
26.
|6-5x| =
6-5x20[6-5x<0
3 3
X< = X> =
5 5 2 14
6-5x=8]|5x-6=8 5 5
__2 _ 1 : o , .-
X=-= x== -1 0 1 3
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27.
[-5x-3| =
-5x-320]|-5x-3<0
3 3
XS—E X>—g
-5x-3= 5x+3= 4 2
_ 4 — 5 5
X=-z X=-z e °
28.
|8-4x] =8
8-4x20[8-4x<0
X< 2 X>2
8-4x=8|4x-8=8| 0 4
x=0 x=4 0 4
29.
|[4-2x] =5
4-2x20[4-2x<0
X<2 X>2 1 9
4-2x=5]2x-4=5 T 2
— 1 — 9 _‘ L 2 1 @
__E X_E 1 0
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30.

o9 O

2
5-2x=7|3

[2x+6] =2

2x+6=20

2x+6<0

X=2-3

X< -3

2x+6=2

-2x-6=2

X=-2

31.

x=-4

32.

-

|-dx-7| =4

-4x-720

-4x-7<0

33.

-
-

.'"‘l

®w |

-3 -2



34.

[2x+

5/ =3

2x+520

2x+5<0

>
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35.

|6-2

x| =10

6-2x20

6-2x<0

X>3

2x-6=10|

x=8

|x+10| =4

x+10=0

x+10<0

x=-10

x<-10

-6

@ 00

x+10=4

x-10=4

-6

—14

-10 -9 -8

37.

7 =6 5 -4 -3 2 -1 0

1

2

|4 -x|

=5

Z-x=04

-x<0

xX<4

Xx>4

4-x=5]x

38.

-4=5

x=9

©® ©

10
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39.
|-5x-7| =
-5x-720|-5x-7<0
7 7
XS_E X>—g 1
-5x-7=8[5x+7=8 ‘ -? ‘ ‘ 5 |
X=- X=1— -4 -3 -2 -1 e 1
5
40.
[x-10] =9
x-1020 [ x-10<0
X=10 x<ti0 | * 19
X-10=9|10-x=9|10 1 2 3 4 56 7 8 9 10 hd
x=19 X=
41.
|[4x-10] =5
4x-1020[4x-10<0
5 5
XZE X<§ 5 15
4x-10=5[10-4x=5 ‘ ‘ 4 4
=E =i -1 0 ¢ é gi %4‘1
X=7 X=7
42.
|-2x-7| =4
2x-720]|-2x-7<0
XS—% X>—% 1 3
2x-7T=41|2x+7=4 I 32 I I I | 32 | L
T -6 -5 -4 -3 -2 -1 1
X=-= X=-=
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43.
|3x-6] =4
3x-620[3x-6<0
X2 X<2
3x-6=4|6-3x=4 § %
— 10 — 2 . ‘ - °
X—? X—g 1 0 hd hd
44.
|-x-5] =0
-x-520]|-x-5<0
X< -5 x>-5 _5
—X—5=O X+5=0 L PY | L |
Y= Y= 6 -5 -4 -3 -2 -1
45,
|5x+7| =7
5x+720| 5x+7<0
x=-L Xx<-L
5 5 14
BX+7=7|-bx-7=7 5 ‘ ‘ 9
x=0 X—_% —3' -2 -1 6
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46.

(o8]

[ JON

[x-4| =4
x-420|x-4<0
x<4

x
\%
N

47.

414-x=4
x=0

>
1
I+
o] 1l

ce O

48.

@ w N

@ 0o

|-x-8] =1

-x-820[-x-8<0

X< -8 x>-8

-x-8=1|x+8=1

10 -9

X=- X=-
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50.
[x-10| =3
x-1020 [ x-10<0
x210 x<10 7 13
x-10=3[10-x=3|17 0 1 2 3 4 5 6 T 8 9 10 °

x=13 x=7




